FgArea: [0 ]
NC11 P3-9
2025-04-28 (Day 26)




00000000
0000000
7777777



VN

1

20

15

10

500 -
400 -
300 -
200 -
100 -







700 4 .. o 1 VI vs Du
o
600 -
[
500 - ®
[ ]
[
400 - : ®
300 -
[
200 - : L @
[ ]
[
1 .
00 °
[
T T T T T
500 1000 1500 2000 2500

DU




o
& - R
—
L ©
(aV)
| ©
2o
|l ©
2
- o
—@® [ o
T T T T T
o < [a2) N —
o o o o o



T
25

| ©

N

| ©

0

| ©

e

L

—e | o
T T T T T T
o o o o o o
N o © © < N

= =2



1 (fgArea = NA)

| T T
4900 ® —8—  ECI*10% ||

—0— ECO

4000

3500 A \

NN

2500

2000

1500




—&—  PHI*10% |

—0— PHO

7.5
7.0
6.5
6.0

5.9

25

20

15

10
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